AEITOYPTIKAKENA A TOMOGETHZEIZ ANAMNAHPQTQON AIEYOYNZH A.E KYKAAAQN
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2904010 - F'YMNAZIO MHAOQY -1 -1
2950082 - EMNA.A. MHAOY -1 -1
2954010 - FE.A. MHAOY -1
2910010 - F'YMNAZIO pe A.T. ZIONOY -2 -1 -1
2940060 - EMNA.A. ZIGNOY -1
2915010 - F'YMNAZIO pe A.T. ZEPI®OY -1 -1
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2913015 - T'YMNAZIO EMIMOPEIOY -2 -1 -1
-2 1 1

2911010 - T'YMNAZIO pe A.T. IOY -2 -1 -1 -1

2940059 - EMA.A. I0Y

2911090 - F'YMNAZIO pe A.T. ZIKINOY -1
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2905010 - 10 'YMNAZIO NA=OY
2905015 - 20 'YMNAZIO NAZOY -1
2955010 - FE.A. NAZOY -1
2908020 - 'YMNAZIO BIBAOY
2905020 - 'YMNAZIO TPATAIAZ -1
2955020 - FE.A. TPATAIAZ
-1
2905050 - N'YMNAZIO ZKAAQY -1 -1
-1 -1
-2
-2 -1
-1 -1 -1
-1 1
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2901010 - 10 F'YMNAZIO ZYPOY
2901020 - 20 'YMNAZIO ZYPOY
2901021 - 30 F'YMNAZIO ZYPOY
2901035 - EZMEPINO N'YMNAZIO pe A.T. ZYPOY
2940050 - ENA.A. ZYPOY -1
2950200 - EZMEPINO EMA.A. ZYPOY
2951010 - FE.A. ZYPOY
2907010 - 'YMNAZIO THNOY
2940070 - EMA.A. THNOY
2957010 - FTE.A. THNOY -1 -1
2909010 - 'YMNAZIO MYKONOY -2 -3 -1 -1
2940052 - EMNA.A. MYKONOY -1 -1
2959010 - FE.A. MYKONOY -2 -1 -1
2912010 - F'YMNAZIO pe A.T. KEAZ -1 -1 -1 -1
2940054 - EMA.A. KEAX -1
2913010 - 'YMNAZIO pe A.T. KYONOY -3 -1 -1
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2902010 - 'YMNAZIO ANAPOY -2 -1 -1
2940110 - ENA.A. ANAPOY -1
2952010 - TE.A. ANAPOY -1
2914010 - F'YMNAZIO pe A.T. TAYPIOY -1
2902020 - 'YMNAZIO pe A.T. KOPOIOY -1 -1
-1
-1 -1
2906050 - F'YMNAZIO NAOYZAZ
2956050 - FE.A. NAOYZAZ
2906055 - 'YMNAZIO APXIAOXOY
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